| [1/GeV]

t,had t,had
dly

pT

Ratio to ATLAS

-
o
R

107>

0.5

13000 GeV pp

— ' I ' T T T T T T T =N
- | EE
— top . . — g
pT (ATLAS semileptonic ttbar) 13
B =
m ATLAS g
— --f8-- Pythia 6.428 391 = N
E --<r-- Pythia 6.428 393 E S!
— --em_Pythia 6.428 394 | ;
Vs -
B .—.fiv -+ Pythia 6.428 395 —%
S =
— \\\ — o
- AN =
— ’\: —
- ], ]
— :§:§ — '6‘
R\ ™
B\ =
= R =™
— s — ©
— ‘o =R
— - 19
B ‘L. — <
B ‘Q:\ ] 2
B S —X
’Q‘:.\\ &
I \:.Q‘, _1c
= S =N
I N -
(&}
B )
- S
)
4 | | | | e , =
= 32
g:.;.‘:i? e T T T i — . -1 1
B —0.5
| 1 1 1 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000

p"* [GeV], Iy™ in [0.7,1.4]



	Contents
	Page 1


